20124E2H6H  (F)

Total 0Om

axvp

20128780 (k) 21)——X Kitz 23:2C 23:3C
W-up 40C Fr ‘

Swim  20C Ba SM (2'45°

Down 50

Total 65C m

agvp

201222 H 8H (k)  2)—=—0—2 Kitz 23:2C 23:3C
W-up 40C Fr ‘

Swim  20C Ba SM (2'43

Down 10C

Total  70Cm

aAvp

20124£2508 (&) s

20122281080 () L7, a8

Total Om

axvp

201228118 (+) 21)——2 Kitz 19:3C 20:3(
W-up 40C SKPS

Drill 50* 4* 4 4S 1:1C Sc/S .

Swim 10C* 6 Fr 1:45 sSM (Ave.1'14

ES 10C

Swim 10C* 2 Ba 2:3C SM/H (115 1'16°

Down 30C
Total 2.40(m

axyp

201228128  (H) ke

Total 0Om

agvp
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